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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

41-

42-

46-

47-

48-

Bulk materials like coal or grain ---—--- by conveyor belts or ------—---—-- along
pipes from the ship to storage buildings.

1) would shift / send 2) may be shifted / sent

3) were shifted / would send 4) should be sending / were sent

| -eeeeeecceceeces many different English accents because | have got many friends from
abroad every year.

1) am using to hearing 2) would rather hearing

3) am using to hear 4) would rather to hear

Suddenly she felt very disappointed and didn't know what to do ----eeeeeeee ---- she was
waiting.

1) while 2) until 3) so that 4) as soon as

I think he wishes he ~---eceeeeee ---- something, but I thought he was quite eloquent.

1) prepared 2) have prepared 3) had prepared 4) would prepare

If -==-eeeeceeeeeee @ bus to the Cancunt hotel zone, try to sit on the passenger side. You'll
get a great view of the Caribbean.

1) taken 2) taking 3) to take 4) being taken

A line of forts was built along the border to -------eeeeeeev the country against attack.

1) prohibit 2) design 3) supply 4) protect

We, as mankind, should be very grateful for God's creating the sun's pulling and
pushing forces in ———-—smeeeee,

1) orbit 2) altitude 3) balance 4) measure

As far as I'm concerned, your handwriting is not ---—-—ceeeeev ; why don't you use a
computer for your assignments.

1) legible 2) varied 3) inevitable 4) obtainable
Although a cheetah can -—---veceeeen a speed of 110 kilometers per hour, it can maintain
this speed for only a few hundred miles.

1) convey 2) uphold 3) invade 4) achieve

The entire history of the human race has been marked by —---—--eeeeev of cultural and
technological advances from one civilization to another.

1) dilemmas 2) transfers 3) prejudices 4) appointments
Compared with the other regions, unemployment is ----=----—--—- much higher in the east
of our country.

1) randomly 2) reciprocally 3) conceptually 4) proportionally

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One of the critical problems in archaeology is dating and therefore two different types
of dating have been (52) =-=mmmemmmme-- . One is called absolute chronology. which is the
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actual calculation of the object in years. (53) ---=--=-sueauv is called relative chronology.
which refers to the dating in relation to other phenomena (54) ------------ chronological
sequence. One can say it is older than another object but cannot determine its
(55) =emmmmmmmmaane age. For example, in prehistoric Europe and Africa no written dates
existed before the arrival of the Romans. (56) -----=-=----- --, a date cannot be assigned.
A major problem for an archaeologist is to date the prehistoric world. Thus, relative
chronology is used.

52- 1) declined 2) subsided 3) devised 4) abolished
53- 1) Other 2) Another 3) The other 4) One other
54- 1)in 2)on 3)at 4) for

55- 1) adequate 2) actual 3) temporary 4) imaginary
56- 1) Yet 2) Though 3) Nevertheless 4) Therefore

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Scientific observations are made under controlled conditions. Laboratories are popular
with scientists because they are handy places to control variables such as heat, light,
air pressure. time intervals. or whatever is important. A variable is anything which
varies from case to case. For example. people vary in height, weight. age. sex. race,
religion, education, behavior characteristics, and many other things.We have a
scientific experiment when we control all important variables except one. then see
what happens when that one is varied. Unless all variables except one have been
controlled. we cannot be sure which variable has produced the results. If we wish to
study, say, the effects of phosphates on plant growth. all other factors - seed, soil,
water, sunlight. temperature. humidity - must be the same for all the sample plots:
Then the varying amounts of phosphates on different test plots can be held responsible
for different growth rates. This is the basic technique in all scientific experimention -
allow one variable to vary while holding all other variables constant.

57- The author suggests in a scientific experiment ------------ ---
1) only one variable is controlled
2) none of variables are controlled
3) all but one variable are controlled
4) age, sex, and education are important variables
58- Labs are popular places for experiments because —-——--—--——,
1) they are more comfortable
2) it is easy to control variables there
3) they are built for experimentation
4) it is hard to get permission for other places
59- The word “handy” in "handy places to control variables" in line 2 means -------=-vnxv -
1) helpful 2) habitual 3) scientific 4) convenient
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60- According to the passage, which sentence is true?
1) A variable is constant in different cases.
2) In labs, experiments are under careful control.
3) The basic scientific technique is to keep all variables changeless.
4) Using the varying amounts of phosphates doesn't have any effect on plant growth.
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PART C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Computer games are nearly as old as digital computers and have steadily developed in
sophistication. Chinook. a recent checkers (draughts) program. is widely believed to be
better than any human player. and the IBM Deep Blue chess program beat world
champion Garry Kasparov in 1996. These programs have demonstrated the power of
modern computers. as well as the strength of good heuristics for strategy. On the other
hand, such brute-force search heuristics have failed to produce a go-playing program
that can defeat even moderately skilled players because there are too many possible
moves in this Japanese game for simple quantification.

After board games. the earliest computer games were text-based adventures—in
which players explored virtual worlds, sought treasure, and fought enemies by reading
and typing simple commands. Such games resembled military simulation programs
first used in the early 1950s. Contemporary games, however, depend on high-
performance computer graphics. Played on arcade machines, special game computers
for home use, or PCs, use the same capabilities as simulation and visualization
programs. A related area is computer-generated (CG) animation for films and video.

76- What does the passage mainly discuss?
1) Chinook 2) Computer games
3) Board games 4) Digital computers
77-  Which of the following is true about what Garry Kasparov did in 1996?
1) He developed the IBM Deep Blue chess program.
2) He beat the IBM Deep Blue chess program.
3) He was defeated by a chess program.
4) He became the world champion.
78- It is suggested in paragraph 1 that a professional go player -——----s-eueex,
1) can easily defeat a go-playing program
2) loses to even moderately designed go-playing programs
3) cannot predict the possible moves as well as a computer
4) is needed for the production of a go-playing program
79-  The word "sought" in the passage is closest in meaning to -——----eeeeeuv,
1) found 2) created 3) searched for 4) thought about
80- According to paragraph 2, high-performance computer graphics —-----eeeeeeee,
1) were used in text-based adventures
2) are used in military simulation programs
3) were first introduced in the early 1950s
4) are required for contemporary computer games
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PASSAGE 2:

Without doubt, we live in a world of computers. These machines for long now have
been reducing human labour and making lives simpler and simpler. As per definition,
computer is a device which has the ability to perform arithmetic and logic operations
automatically. This is something many of us know, but there are lots of amazing and
interesting facts about all these silicon devices.

Though you do a lot of stuff with your computers say run games, movies. software
etc., all of them result from your computer's ability to perform small instructions
which include adding numbers and moving data between places. That's it! Simply a
few millions of such small instructions result your web browsers. video players, word
processors etc.

The modern computers are being built with transistors in form of integrated chips.
But if someone were to connect each transistor individually (almost impossible). then
we have it our ancestral room-sized computer!

Computers are not just machines which can help vou write documents, surf web:
they can even help you wash clothes (as in washing machines), cook food (as in
microwaves). The only difference is the processors present in such electronic goods
are capable of performing only one specific task. It surely isn't the case with our
laptops or desktops.

Which of the following best describes the organization of the passage?

1) A generalization is made in paragraph | and its specific examples are given in the
next paragraphs.

2) A device is introduced in the first two paragraphs and the next two discuss its
applications.

3) An idea is introduced in paragraph 1 and evaluated in the next paragraphs.

4) The first two paragraphs support a theory while the next two reject it.

Computers are defined in paragraph 1 as devices -——----—- ——

1) that increase human labor

2) in which we live in today's world

3) which many of us do not know well

4) that can automatically carry out arithmetic and logic operations

According to paragraph 2, we can do a lot of stuff with computers because of

1) their sophisticated hardware

2) the way they process words

3) their ability to perform small instructions

4) their ability to learn from our instructions

Which of the following can be understood from paragraph 3 about transistors?

1) Modern computers do not use them anymore.

2) There are a large number of them in any computer.

3) They are connected individually by hand.

4) Each transistor is made of some chips.

The word "it" in paragraph 4 refers to --—--eemeeeeeee,

1) case 2) difference

3) one specific task 4) performing only one specific task
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void f1();
intx=7:
void main()
{
intx=09:
cout<<x++;
{
x=8:
cout<<x-++;
H
cout<<--x:
f10:£1();
cout<<x.:
H
void f1()
{
static int x = 7,
COUt<<++x:

)

void main()

!
intnl[]: I
int n2[10]={0}: /2
int n3[]={1.2.3.0}: /3
int n4[5]={1.23.0}: //4
;

Ppols g jlwdoliyy

Sl S ) Aaliyy 29y —1e)
898989 ()
977897 (v
988898 (r
989898 (¥

foal as g1yls bas plas o5 a8 50 -\eY
1 QO
2 (Y
3
4 (¥

Sl oIS 29,5 D9 1,2l Z =2, X =4 adgl o b 4o p 45 5 90053 Tusl plAS 0 0318 daliyp 29,5 VoY

void main()

f
|

int x=2,y=3,7=4;
if(x>0)
if(x>y)
ifly>z)
cout<<"hello";
else
cout<<"bye":
cout<<"byby":

-

void main()

!

int x=5;

if(x>0) cout=<">"; cout<<">";
else : cout<<'<";

1
|

bye bye (\

byby hellobyby (¥
hello  hellobye (v
byebyby byebyby (¥

sl pIS g2 daliyy g 9)5 ~\oF
> ()
< (Y
<> (v
3yl Uas asl o (F
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void main()

i

int a=5,b=2;

cout<<a/b; /1
cout<<static_cast<double>(a/b). //2
cout<<static_cast<double>(a)/b: //3
cout<<a/b.0; /14

}

void main()

!

int a=3.b=2:

Sl Uas 51510 bas alaS oulb 0015 daliy j0 -1+
IO
2 (Y
3
4 (f

cout<<(a*b)<<t++a<<a--<<(atb)<<at+<<(a-b)<<--a

[}
|

void main()

{

int a=0,b=0:

iflta==0) cout<<'1";
else cout<<"2";

if(b=0) cout<<'3";
else cout<<'4";

}

void main()
{

int c=1.f=1;
while(c<=5)
f¥=c++;
cout<<c<<f:

i

sl plas il (g g 3l b e yids pj dalip (o295 ¥
10554324 10475314
10557424 10557424 (v
Ls 10473524 (v
U 10557424 (f
gig0 Pl (29,5 93590 pI0T 10 &by g1yl VeV
13 ¢
14 (v
23 (v
24 (f
Tl pIAS () &aliyy o> 9)5 —1oA
6120 (
6720 (v
5120 (v
5720 (¥
Tl plAS 15 O o>9,5 Vo4
4681012

void main()

g

for (intn=2.tot=0;n<=10:cout<<tot+=(n+=2)):

)

410182840 (v
e oo 75 bl o adl> (Y
Dyl oo dxlge lax L (F
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V{Oid f1(char *sptr) Sl s glylo ol plaS —1e
while (*sptr !="0") f1.£2 ¢
[ £4.£3 (¥

void f2(const char *sptr) f2,13,f4 (v

f1.2.13.f4 (¢
for(: *sptr!="0".sptr++)
cout<<*sptr;
1

'
void f3(const int *xptr)
|

L
*xptr=100:
|
void f4()
{
int X.y.*const ptr=&x:
"pir=7;
ptr=&y:
i

inline void cincout() foawl plas g 49, ol (25,5 -

| B
int a=0; =al, Hles (Y
for (:a!=0;cin>>a,cout<<a*a*a<<'\n'); ik
} - 20 (2> e (7

\{01 main() 318 Uas 4l (F

cincout():

)

Caww! Uas > ‘51)‘0 909, u.;)b’ -1y
class rational |

public: Lo
rational (): 2 (¥
rational (int); 3 (v

rational (int , int);
rational (const rational &); i1 4 (f
int numerator () const;
int denominator () const;
void operator = (const rational &):
void operator += (const rational &):  //2
private:
int top:
int bottom;
void normalize:

J:
int rational::numerator(int top) const /13
d
return top;
|

int rational::denominator(int bottom) const /4
!

1

return bottom;

1

]
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void main() 001122 ¢
‘ 0123 (v
int n;
struct rec{ 00112233 (r
float a; 012 v
int b;
} ¥ptr:
cin>>n;

ptr=new rec|[n]:

for ( int i=0:i<n;++i) |
cout<<(( ptr + i)->b=i);
cout<<((*(ptr+i)).a= i+ptr->b);

|
H
s Wi 2ed Bi> Public | o bas pdgl 810,00 Uas wis wed blelf Ojse uedd (p) o S -\F
class string O CRRVA PP
|
|
A \
public: 0 0
substring operator()(unsigned int start.unsigned int length): 1«
istream & getline (istream &): 0 2
char & operator [] (unsigned int ) const; 2 2

operator const char * () const:
unsigned short int bufferlength;
char * buffer;

&
(il plS 29,5 O a0 ] 0 Yo yobo s U ol wuli bas plus ;o cout joiws (pj aabiyp j0 -110
class basel { IRI Y Lo ()
public: )
basel(char the_char); L YR
}: NRI Vs o (Y

class base2 | NRI Y s o (f
public:

base2(char the char):
)2
J e
class derived:public basel,base2 |
public:
derived(char cl.char ¢2.char ¢3):
}:
basel::basel(char the char) {cout<<the char:}
base2::base2(char the char) {cout<<the char:}
derived::derived(char  cl.char c¢2.char ¢3):

basel(c3).base2(c2)

!
1

cout<<c3: |

H
void main()
|
1
derived derived object('N.'R"'T'):
cout<<c3; 2

)
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